54

Page 2 of 14

/ﬁ%aﬁnﬁmﬁm%ﬁmuﬁmmm 2

- / SECTION-A
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Mention the part of the brain which controls the involuntary actions like blood pressure,

salivation etc.
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Write the relation between resistance (R) of filament of a bulb, its power (P) and a constant
voltage V applied across it.
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State one use of glass cover in box type solar cookers.
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@  Inwhichon¢of the metalsprew'rtism.
@) ‘Which has a low melting point and is for electrical work?
() Whichis used for making utensils and decoration articles?

(iv) Which is used for making medals and statue
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in hlack and white photography.
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() A solution gfa-swlTDze % is used f
reaction of X’ with carbon dioxide.
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(b} How is ‘X’ obtained? Write chemical equation.
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On placing a brown coloured substance in sunlight, it turns grey. This substance is also ased




CH;COO0H, H450,, H,C05, HNO;
\ﬁ/ﬂeﬁne olfactery indicators. Name two substances which can be used as olfactory indicators.

{b) Choose strong acids from the following :

il

CH3COOH, H,50,, H,CO3, HNO4
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Name two metals which do not corrode easily. Give an example in each of the following case to
support that :

’l.l.\/ Corrosion of some metals is a0 advVantage . e mmm——

ﬁy Corrosion of 2 metal is a serious problem.
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Five solutions A, B, C, D and E showed pH aszg i 101 and im'!-pectﬂ’&l? when tested by
universal indicator. Which solution is : /y
9/ Neutral () Strongly acidic :

(i)~ Strongly alkaline  (iv) ~ Weakly alkaline

=CE :
_Er)/ Weakly acidic
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};} The inner wall of the alimentary canal is not digested.

{}Q/ Valves are present beh-\relmﬁtﬂt atrium and left ventricle as well as right atrium
and right ventricle. 4 L
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Electrical impulses are an excellent means of information transfe
use of electrical impulses and explain them in &
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Define excretion. Write twe vital functions @
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400 Joules of heat is produced per second 1 160
across the resistor.

-

It is necessary to connect an earth wire o es having metallic covers. Why ?

How will you identify earth wire in househo
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Define magnetic field. Mention any two properties of magnetic field lines.
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Solar cooker takes more time as compared to the LPG to boil potato or rice, yet Kunal uses

solar cogker for such type of cooking :
(i does Kunal use'solar cooker instead of PPG? CIVETE550 for your answer.

(ii) / Name the phenomenon which is responsible for obtaining
cooker ?

(id What is the motivation behind using solar cooker ?

uftfe sfufsmar = 22 TerlE S gh aeaEd i suE
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high temperature in solar
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(a) // What is thermite reaction 7 Giving chemical equations, explain how it is used tn‘jum

' railyray tracks or cracked machine parts ?
(b)  Differentiate between roasting and calcination by giving suitable examples.
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A white powdery substance having strong smell of chlorine is used for disinfecting drinking
water supply at water works. Identify the substance. Give its chemnical name and write the
chemical reaction for its preparation. What happens when this compound is left exposed to
air ? Mention its two uses.
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¢ Define reflex arc. Draw a flow chart showing the sequence of events which occur

g sneezing .
(b List four plant hormones. Write one function of each.
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State and explain Ohm’s law. Define resistance and give its SI unit. What is meant by 1 ohm
resistance? Draw V-I graph for an ohmic conductor and list its two important features.
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Draw the pattern of magnetic field lines of a current carrying solenoid. What does the
pattern of field lines inside the solenoid indicate ? Write one application of this magnetic

field. s
WS overloading ? List three precautions that should be taken to avoid
overloading of domestic electric circuits.
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Write an expression for the resistivity of a substance. € gekMULA»
by~ State the SI unit of resistivity.
(@~ Distinguish between resistance and resistivity

(d) two factors on which the resistivity of a substance depends and two factors on
which it does not depend.

[T-5/ SECTION - B
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The pH value of a sample of hydrochloric acid is 2. pH value of this sample when diluted by adding
water will be ;

(a) less than 2 but more than 0 [b) more than 2 but less than 7

(€) mare than 7 (d} no change in pH

“/ﬁéﬂﬁﬁ'q?lﬁ pH YR ST 910 O - 1
{a) H” #ET = SR
() OH™ 3 =i (d)

In acidic solutions the pH paper detects the concentration of :
(a) H ion () HTion

(0 OH ion (d OHVion
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Zinc metal is added to dilute hydrochloric acid. The gas evolved is

(a) Oxygen (b) Hydrogen
(c) Chlorine (d) Hydrogen chloride gas

25 T 5 ¥ forus sors faems TE &2

— () FeSO, @)  ZaSOs
(©)  ALSO) @ () FQF

Aqueous solution of which of the following is colourless ?
(a) FeSO, b) ZnS0y

(c) Al(SOy): (d) Both (b) and (C)

zﬁ_j/ﬁggﬁmﬁwﬁﬁﬁmW%Mﬁmﬁm T W& &1 JN6T
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Sapna added a small strip of aluminium to ferrous sulphate crystals. Her observation should
be:

(a) No reaction takes place
(b) Formation of crystals of aluminium sulphate.

(c) Ferrous sulphate crystals turn colourless
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(d)  Aluminium turns light green.
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In the circuit diagram given below V3, V; and V3 are potential differences across 2 £, 4 () and
6 {} resistors respectively. The current flowing in the circuit is 10 A

20 4 £} 60

10A 4—-—-—-‘5,1"]--+ -1-—‘,,.’2—:- -a—-—-'i..,rg—y

The correct values of Vy, V; and V; measured in vo! ire given by :

{c) 2 4
(d 3 4

/s 1
=1 Wialidi Ry 991 Ry 1 qe Wity ufietad 3 & W § e fer au F & o ufig € - 1
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In an experiment to calculate the equivalent resistance of two resistances
R; and R, connected in parallel, the correct circuit diagram from the following is :

o]
=)
o
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(d) T tea = v, B F R, A

Which one of the following is the combination of

ials required for setting up an
experiment to show that light is necessary for p \

(a) De-starched leaves, strips of black paper, starch Solution & dine crystals
(b) A potted plant, strips of colored paper, starch suh:ﬁon,im,ﬁ;ﬂ and potassium iodide
(c) De-starched leaves, strips of black paper, starch solution and potassium iodide

(d) d leaves, strips of black paper and iodine solution
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(@) The beaker has coloured water mixed with KMnOq

(b)  Carbon dioxide is not being absorbed
(€)  No oxygen is available for respiration
(d) set up is air tight

w4 50 ehe F Hreal 71 a9 1ot § 7 fea -
S & I 4 A UF T 55 A 9 9 w0 S g
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When ferrous sulphate crystals are heated in a boiling tube, they give vapours, which
condense on the cooler part of the test-tube to form tiny droplets of a colourless liqud. A
mixture of coleurless gases is also evolved.

What are these colourless droplets ?

iwat type of smell is of these gases ?

-
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In an experiment to prepare temporary mount of a leaf peel a very dark liquid is put on it.
What is this liquid called? Name an example of this liquid.
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